Math 200 - Quiz 1 Name kes
Score

August 29, 2012

Show all work to receive full credit. Supply explanations when necessary.

1. (2 points) State any two steps of the four-step problem-solving process. Then list two
significantly different strategies associated with each of your two steps.
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2. (2 points) On a Halloween hayride, the number of girls was four less than twice the
number of boys. The total number of girls and boys was 17. How many girls could

NOT be paired with boys? /\ c
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3. (1 point) Find the sum:
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